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(7 9
7
(N=361)
236 65.40
125 34,60
87 24.10
258 7150
I 16 4.40
133 36.80
119 33,00
63 1750
45 1250
1 0.30
13 360
67 18,60
281 77.84
:
65.40 7150

24.10
4.40



36.80 33.00
0.30
71.84
8.60

(=38)

97
10
136
38
20

31.10
5.50

3.60

26.87
19.40
31.10
10.50

5.50

26.87



7,693.38

141

X

32.52
7,693.38
2.90
141

55.08
69.33

32.52
2.90

55.08

9.84

6,578.89-

1.88
12.22

18.26
21.33

92

69.33



10

416 413

(N =361)
. SD.
4,16 055
413 053
403 063
413 051

10
( 413)

4,09 )

93



(

(

il
4.21)

426 4.25 425 420 4.19 4.19

4.26
4.25
4.25
420
419
419
412
421

4.12

(N = 361)

0.55
0.54
0.63
0.58
0.58
0.58
0.55
0.48

94



95

12
12
(=.787) 05

(= 518 05

(= .224)

(r=-.146)
(r=-.115)
(r = -.164) 05
187

800 ( 12)

(Multicollinearity) (Pedhazur,
1982; Hair and other, 1998; , 2532, ,

2537: | 254)



12

p< .05

1.000

-0.536*
-0.351

-0.288*
0117
-0.246*

0.133*
0.183*

-0.013
-0.140%

0.167*
0.224*

1.000

-0.322F

-0.265*
-0.009
-0.198*

0.201*

-0.042

0.042

0.068
0.037

-0.040

1.000

-0.174*

0.029
0.287*

-0.218*
-0.120*

0.025
0.085

-0.140%
-0.146*

1.000
0.107*
0.316*

-0.219*
-0.079
-0.066

0.017

-0.137*
-0.115*

1.000

-0.092*
-0.266*
-0.053

0.080

0.088*
0.089*
0.036

1.000

-0.656"
-0.036

0.093
0.001

-0.179*
-0.164*

1.000

-0.007
-0.100

-0.024

0.003
0.026

96

1.000

-0.030  1.000
-0.009  0.405* 1.000

0.424* 0063 0107 1.000
0.518* 0031 -0.013 0.787* 1.000



13

(Constant)

R
R?2

13

67.70

-0.545
-0.618
-0.589
-0.572
-0.048
-0.013
0.016
0.053
-0.001
-0.001
0.666
2.007
0.823

0.677

05

Enter

S.Eb

0.295
0.294
0.295
0.295
0.094
0.060
0.047
0.009
0.001
0.001
0.033
0.320

P
-0.543
-0.600
-0.462
-0.391
-0.018
-0.010
0.016
0.205
-0.038
-0.058
0.703

-E.est =
F
P-value =

t

-1.849
-2.099

-1.9%

-1.942

-0.506
-0.209

0.348
5972
-1.124
-1.693
19.924
6.266
0.280

66.506
0.000

p-value

0.065
0.037
0.047
0.053
0.613
0.835
0.728
0.000
0.262
0.001
0.000
0.000

97



98

14 R
(R2)
(R 2change)
Stepwise

R R2 R2change F p-value

0.787 0619 0619 582613 0.000
0813 0660 0041 347837 0.000

0817 0668  0.007 239.049 0.005

14 1
05
0.619
61.9

0.660 05
66.00 (R2 = 0.660)
410 {R2
change =0.041)
3
0.668 05
66.80 (R2=0.668)

0.7 (R 2change = 0.007)



15

Stepwise

0.666
0.057
-0.002

Constant 1.404
R 0.817
R?2 0.668

SEes 0281

15

66.80

05

S.Eb

0.032
0.009
0.001
0.126

99

p t p-value
0703 20717  0.000
0219 649  0.000

-0.087 2821 0.005
11139 0.000
F=239.049
P-value = .000
0.817



100

= 1404* +666* ( )
+.057 ( )-.002 ( )

N ' —-703 +.219 f
- 087 Z fiuvto 0
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